7KIe TNV HEG S — SR BO B S Br HEBCR A S E R (8) -

“a g = 2" Ry Xy x 107/ B (8)
i=l
X € —4 1 RGP AN SBRHRBOR A G TR A5 R & 14) 35 § KPR
BRI SR L, mg/m?:
0f~’—?f‘i AT YR ) RBRA SR HE U BRHER A R F AR, mh

Loy s e § BRI RSN Y 1) B SCRRZ AT,

B iy )54 T B0 5 R R AT HE RO o 7K TS 4 — B 1 35
’F\‘r."-"'ﬂ'.A. .. . e e i wa W et B ves ve e . wte an S o sr s e . " — 6t v s e

3
0.072 t 1# 6.72mg/m3
46h 2# 7.27mg/m? 18h 3#
6.75 mg/ms 18h
M =0.072/0.65= 0.1108t
M1# =6.72x 22593x 46x 10°/0.65=0.0107t
M2# =7.27x 19768x 18x 10°/0.65=0.004t
M3# =6.75x 21513x 18x 107°/0.65=0.004t

M +M =0.1108+0.0107+0.004+ 0.004+0=0.1295
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0.0367 t 1# 6.72mg/m3
44h 2# 7.27mg/mz 17h 3#
6.75 mg/ms 15h

M =0.0367/0.65= 0.0565t

M1# =6.72x 22593x 44x 10°/0.65=0.0103t

M2# =7.27x 19768x 17x 10°/0.65=0.0038t

M3# =6.75x 21513x 15% 10°/0.65=0.0034t

M +M =0.0565+0.0103+0.0038+ 0.0034+0=0.0738



